GR 10 REVISION:  EXPONENTS
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ANSWERS:
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(B3 -3)3*+3)= (32 -32=3"-9

Ifwe let 3 = aand 3 = b, then we have (a - b)(a + b), which, when multiplied
out, gives us the difference between two squares (a? - b?).
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‘The bases are the same, therefore:

2(x-2)=3(1-2%)

5%*1457~150=0
545 +1) = 150
5%=25[25 =57
Therefore, x = 2
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Therefore, the cubic region of space has a volume of 2,7 x 102 cubic miles.
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Questions

1 Simplify the following expressions by applying the laws of exponents. All indices
must be positive, and all variables represent positive rational numbers.

a (2a"-27 bosx®+8 (1)
2a 1260 - (3P

o m d =
279t 2%

e £ 2

g h Lo3a+27 -1

2 a cqlmlambirh;}
1f 5x = £, express 2.25%* * in terms of /.
¢ 1f37=5, find the value of
io3me 9
d Remove the brackets and simplify: (32 - 3)(32 + 3)
3 Solve the following equations:
a 2+1=2 b 92
c© 5%:1=0,04 d 5°1+5°-150=0
4 Anastronomer studying a region of space needs to determine the volume of a cubic
region. The edges of the region measure 3 x 108 miles long. Find the volume.
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